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1. 4={0 1 0],K(a) 4 HIEEEIEFE 47 (b) 4 B9 (rankd ()75 EHIEE.(D) det( 4) .(10%)
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B.(058E 4 BYTRE KXY EEEE ERE AL £ 4 (Orthonormal systrm), AIBE 4 2 IE3AEFE.
(15%)

3. Ha=[1,21] b=[212],K(a)a b ZHKA(b)Lha B RERZFTHERER. (10%)
4. KFASEME(Cone): z = /x? + y? TEREP: (3,4,5) BVEEALAR & (5%)

5. EREREAF = [O,x,O],EEZ%EEWES:xZ +y2+2*=1,x20,y20,220,
() BHHSZ SBET F(u,v). 5%)
ORBEMSY [[F-Add . (5%)

y'+y'-2y=0
6.fi# y(0)=4 (20%)

y'(0)=-5
7.t>0 B f(t)=3, K HREEVRIEADBTER F(s)=? (15%)

8. K8~ Fourier’s expand (15%)

0 —-rT<x<0
T—X 0<x<m

f(x) = {




